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T EEEREEE LR
K- B3 S (3IH) - NEAY - Ba 2 0f Ao Soe HRZ2
1 1 31,085,060 28,101,060 2,984,000
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= 80,000
= 14,925,060
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g 16,080,000
& 8,689,900
Mekatd D&l 5,369,900 5,039,240 330,660
rag 2,150,000
= 3,219,900
SMNAIEE 2Y 1,300,000 1,400,000 A 100,000
g 900,000
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Ometed|EE 2 g 1,300,000
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01 =ZWoib] 3,500 3,500 0
OFetpr R 3,500
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Oumel|=gd 24 2,400
301 Et2AS3 4,000 14,000 A 10,000
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OsdHAaALA 29 2 X 900,000
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= 100,000
01 &=93 350,000 0 350,000
Oelgadd SSIIEAMY 350,000
s 250,000
& 100,000
J1e X3 MBS At 1,800,000 0 1,800,000
s 1,000,000
= 800,000
306 =H3 1,800,000 0 1,800,000
s 1,000,000
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01 &=93 1,800,000 0 1,800,000
Osg detaty JIsXg 1,800,000
s 1,000,000
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SI A sS4 8,030,000 4,781,000 3,249,000
s 5,730,000
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XHMICH POP 2= A3 Jlgt RE(ZIIEEXE) 30,000 0 30,000
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s 700,000
& 100,000
306 =93 800,000 64,000 736,000
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= 100,000
01 93 800,000 64,000 736,000
OLASd0lared 2 XtAICHAXE M ZEEHI
AR OIS M AL 800,000
= 700,000
& 100,000
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= 1,290,000
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= 1,290,000
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= 2,200,000
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= 3,000,000
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OBCI25HAY F20l 2y 400,000
2 300,000
= 100,000
SEMH0IR MY B4 3, 150,000 2,462,000 688,000
= 2,300,000
= 850,000
SENY WHIIY TSATNL L AMS HE 200,000 158,000 42,000
308 XHXISHHISOIH 200,000 158,000 42,000
01 KASHHALBES 200,000 158,000 42,000
OSSTAME UF WHIIY BH5 200,000
SEAHI0IQAY QIS At 300,000 54,000 246,000
= 200,000
= 100,000
306 =92 300,000 54,000 246,000
= 200,000
= 100,000
NEEE 300,000 54,000 246,000
OmFE0 NI U 2 300,000
2 200,000
= 100,000
SEM B0/ &Y F4 JIY BH| A 2,050,000 0 2,050,000
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OdH & J1g 25 XNI& 900,000
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